OHITACHI

A03DH=6AC2

RHEE AN ARSAE S

Specification for Scroll Compressor

Model : 403DH-64C2-X10

I B M E % A R 2 F

4% G

E SR RN




GOHITACHI

403DH-64C2

@ itachi Compressor Products (Guangzhou) Co., Ltd.

I~ B EGEN AR

1. 3% Specification
1.1 E45#l Compressor

E45HBYS Compressor Model

403DH-64C2

E4&H8R, Compressor Type

BB EHELEHN Hermetic Motor Compressor

EZEHL AT Compression Type

JRBEZS Scroll Type

{418 Refrigerant R22
HFS AT Displacement 64cm®/rev

SEi83H / = 0il / 0il Charge

SUNISO 4GSD / 1200m!|

&% Painting

2 Black Color Paint

BRE (EH) Net Mass(Including 0il) 35kg

WS EIEO MR Suction Accept 1.D ®22. 2mm
HS BIE O AR Discharge Accept 1.D ®12. 9mm
CCC IAIMES CCC Certification No. 2003010704098885

1.2 Bl Motor

B AKX / &35 Motor Type / Start
Mode

ZHERRRIEBHL / B
3 Phase Induction Motor / Direct Start

¥ Pole

2% 2 Pole

FIEMRE / $iZE Rated Voltage / Frequency

3Ph - 346~380V-50Hz / 3Ph - 380~400V-60Hz

FIEIEH Rated Revolution

2,921 [50Hz] / 3,470 [60Hz]

BIZEEL Insulation Class

FZ F Class

#%AMHHT Winding Resistance (at 20°C)

3.03£7%Q

1.3 1K€ Performance

#4887 Capacity

11, 800W [380V, 50Hz] / 14, 200W [400V, 60Hz]

HININZE Motor Input

3, 600W [380V, 50Hz] / 4, 350W [400V, 60Hz]

BERLLL EER

3.25W/W

Z{THR Running Current

6.7A [380V,50Hz] / 7.5A [400V, 60Hz]

¥4 Locked Rotor Ampere

49A [380V, 50Hz] / 45A [400V, 60Hz]

[
oo S

Iz Sound Level

60dB (A) Max.




GOHITACHI

403DH-64C2

%5 Vibration

15m/s? Max.

X HIAEE MK & Test condition of cooling capacity:

RERE 54.4 °C
[EISEE Return gas temp.: 18.3 °C
BB IRATRAEE Liquid temp. : 46.1°C

Condensing temp. :

1.4 —BR45M  Characteristics

AREIRE

BERE

Evaporating temp.: 7.2 °C
Ambient temp.: 35.0 'C

SZRIEES Leak Tight Pressure

3. OMPa[=/EM H.P. Side] / 1.5MPa[{R/EMIL. P.

Side]
m E i & JE 77 Hydrostatic Strength 4. 5MPa[ S &M H.P. Side]l / 2.3MPa[{&EMIL. P.
Pressure Side]
“84%PA4T Insulation Resistance 10MQ Min.
445 E Withstand Voltage 1, 800V-1min.
FRERIKSTE Residual Moisture 350mg Max.
4% Residual Impurities 100mg Max.

[N

.5 BSEIPmMIE Electrical Component

% Parts Name

%% Specification

HdERIPEE (RE) BE Model UP8TC1425-520
Over load Protector | Run Ef FFiEE Open Temp. 165 +5/-3°C
(Internal) [H&i8E Close Temp. 80*9°C
U/T | sEERIRYFM Amps To Trip 120°C 10.0~12. 4A
EERTE)4EM Time To Trip 50A 3~10s

2. E45H\ECYE  Accessories Of Compressor

NO. #AFR Parts Name HE Qty &5 Drawing NO. %% Remarks
1 | BS¥RERES Rubber Grommet B 4 TP1-102 W R
2 Br#REZEE Rubber Grommet A 4 TP1-103 Standard Parts
3 | IFIEHE Bolt 4 TP1-101
4 | B& Washer 4 TP1-104
5 M6 BZEF M6 Screw Nut 4 GB41-86-M6
6 | MBUZE} M8 Screw Nut 4 GB41-86-M8
7 SEME R Spring Washer 4 GB93-87-6
8 | iBiEREHYMR Thermostat Holder 1 TP1-105 IR
9 HESB#582 Discharge Thermostat 1 TP1-106 Option Parts
10 | #;HhEE Crankcase Heater 1 TP1-110

3. {EF&HEE Operating Conditions
X k&2 E Evaporating Temp. -15~15°C

HESEE Discharge Temp.

(REERE+15C) ~120CLAT~
(Condensing Temp. +15°C) ~120°C Max.

R4HEE Winding Temp.

120°CLLT Max.

E4EHNINIRE Shell Temp.

115°CLLT Max.




GOHITACHI

403DH-64C2

BEEEBE Running Voltage

SIEBET10% Rated Voltage *10%

FCEIEEJE Start Up Voltage

MEREMNSS% U E (EHENIHFEIBE)  Minimum 85% of

the rated voltage measured at compressor terminals.

ZIEE Frequency Range

FESMNZE 2% Rated Frequency £2%

WSES Suction Pressure

0.1~0.7MPa (#&£zh. FRTESIERTEIEEEPRIM; Except the short

period such as start, defrost)

HESEH Discharge Pressure

1.1~2. 8MPa

JEFIEt Pressure Ratio

2~7.5 (31, BREFHEKEEZERIN; Except the short

period such as start, defrost)

ERENE

Pressure Difference At Starting

HESE 1 — RS £ 71<0. 30MPa
D.P.-S.P. less than 0. 30MPa

JB1=EHA On/0ff Period

FEAA 10 o330l b, (FIERSEWAZ 3 53401 b

10 minutes min/cycle, OFF should be over 3 minutes

B{KHE Minimum 0il Charge

400ml Min

FREE/TEE

Abnormal Press. Rise/Drop

EF:3.0MPa L Rise:3. OMPa Max.
TPB%:0.2MPa LL_E  Drop:0. 2MPa Min.

BLE BT &
Copper Piping Stress

BENAT:50MPa LAY Start:50MPa Max.
BHERT: 10MPa LAY Run:10MPa Max.

Solid Impurities Level

REKDEE 60ppm LATS Max.
Refrigerant Moisture Level
RGEGERESE 100mg LA Max.

BEERIAE Tilt In Operation

ERENIERHEARS" LA 5 deg. Max.

X HFSZEIN  Remarks:

1. EFGRIEERRR. HSEXER, BEZHE 10 9L L;

Installation shall be completed within 10 minutes after

discharge tube.
2. BNEHRES;
Do not compress air.

3. EEERTES MEZIRE;

removing the caps of suction and

Do not energize under vacuumed condition.

4. ME RGN INIEEGEHIRERLEMMAE (40~80W, 220V) ;

Crankcase heater is require if the refrigeration system is heat pump.

5. 157 R [E11ER% ;

Do not reverse rotate.

6. IBEERS, BIAEAVERERENERERER 3% LA;

Voltage (run) :Voltage deviation each phase shall be within 3% of the rated voltage.
7. ARG B R U NBERUELRIRA 2 18, RENTEPEEIER;

Pile limits 2 pallet. Tumbling is forbidden during handling.

8. EEMEHLFTHTOL IR, LITMNHESMHELT;

Charge oil or refrigerant from the discharge pipe.

9. EZEH AR B Nk A SH)S R

B R EIEE;

The compressor’ s ground should be connected with that of refrigeration system permanently

and firmly.




GOHITACHI

403DH-64C2

10. EEENFXRSEREEHN2.8%0. 1IMPa, REENFRLSEREMEHAO0.210. 02WPa;

When using pressure switch, we advise setting pressure as follow: High pressure 2.8Z0. 1MPa,
Low pressure 0.2%0. 02MPa.

4. MiE Attachment

A-1 FE4E#H5MEE Dimension of Compressor

A-2 FELe# 1 EEf % Compressor Performance Curve

A-3 PHHRAZEELEEC[E Mounting Assembly

A-4 EXRKBESRIERE (Z#HE4HEHl) Basic Circuit Diagram (Three Phase Compressor)



OHITACHI

403DH-64C2

A-1 EGHIMEE Dimension of Compressor  (403DH-64C2)

j& o
e V | Name Plate
Terminal “ ﬁ
75
487
BiEE
Ground P 341
239
)
| o
E 9176
- ot
1485 L-p17REINL

Mounting Hole

8.5

5% Suction Accept
(1.D622 . 25FIFEHE Welded Connection)

HS% Discharge Accept
(1.D012 9$F@HEHE Welded Connection)

58K8 Name Plate

HITACHI

REFRIGERATING COMPRESSOR

MODEL REFRIGERANT
MOTOR| 3.6 kW 3~ 2P | WEICHT
POWER v TUTEST
SOURCE V60 Hz HIGH 45 MPa 3.0 MPa
Ol CHARGE LOW/| 23Ma 1.5 MPg
DATE MFG.NO. XXX XM KX

THERMALLY PROTECTED

OHitachi Compressor Products (Guangzhou) Co., Ltd.
ADE [N CHINA

BEEIEF Terminal i

TERME R

Not Touch Compressor

=& Ground

0—C

1




403DH-64C2

A-2 EHEHIEREMZ: Compressor Performance Curve (403DH-64C2)

BiE Power Source

3Ph-380V-50Hz

#HA%] Refrigerant R22
RS H#E Suction Superheat 11.1°°C
A Subcooling 8.3 °
400 32.2
48.9
=z W - 65.6
ﬂm Mm 200 \““\HH“\“\
100 65.6
60.0
6.0 54.4
= 5.0 48.9
pord 4. —
" wm " 6.3
&8 e e e e = 31.8
2.0 329
10.0 65.6
9.0 60.0
- 8.0 I ———— 54.4
R 1 i 4.9
w3 6.0 I — I —— 43.3
I e S s o s S S 31.8
5.0 = 2.2
18560 32.2
31.8
16240 43.3
48.9
13920 544
_ 60.0
= >
- 11600 65. 6
€ 3
TS 00
6960
=
4640
-10 °C -5 %0 0°C 5% 10
ERRE(C)

Evaporating Temp.

GOHITACHI

AERE(°C)
Condensing Temp.




OHITACHI

403DH-64C2

TR
Rubber Grommet A

T@WBT
N

o

et

029

A-3 PRERREELEELE  Mounting Assembly

(R3.3)
YA
)
15+

XEER Bolt

“HHia]

N

R1.5
4 R
M6—-8g

\
M8—8g
|

.

36.2

49

T 9

#E Washer

022
6.6
|
Z IR

i 7 2.2

BERE
Rubber Grommet B

Fﬁ ﬂ ]

6.5
B 1 B 4*

S Bolt

W64ZEE M6 Screw Nut

HEHE Spring Washer

7 Washer

FHER Rubber Grommet B

JEAHEEE Compressor Foot

FAERZEE Rubber Grommet A

FHRERE Unit Base

©| | | > || ~| | | —

MB4ZEE M8 Screw Nut




403DH-64C2

GOHITACHI

A4 BERBESEER (ZHESR)

Basic Circuit Diagram (Three Phase Compressor)

Lt L2 L3 N
mww o 3 o OFF N
- N
i\ ON AR
PN
T
PS(H) DTL PS(B)
CMC
AN
o] (e} o
RS T R
FRIC C C RVR
RVR
€4 M
y CH
U ]
CNC AR R SV
[®;
K= & &1 | K5 & i &
Code Parts Name Remarks | Code Parts Name Remarks
HSEREE Close: 100C£15C
4 o L pe
e Bt Conpressor il Discharge Gas Thermostat Open: 130C+6C
= [T LR R s
" 75 2 ; BEMKEE WEES: 2.8WPa
UG | SRS Magnetic Gontactor #3H High Pressure Switch Set Pressure: 2.8WPa
. T M Close: 2.5MPa+0. 1MPa
R | IREEEE 0 t Rel » R BAE b E . y
HASHRE Overcurrent Relay PS@ Pressure Switch For Liquid Bypass |Open: 2 INPaL0.15lPa
R
VR | HARHEHEE Reversing Valve Relay SV R Solenoid Valve %mﬁmz.ﬁ_m_ o
For Cooling Of Liquid Bypass
oo REBMREE Close: 110T£6T
s | FFX Switoh L Gas Thermoswitch For Liquid Bypass |Open: 70T £7.5C
IETEERC RPN
*AR | MEETEEE Auxiliary Relay *TR BYEJ KA EE Timer WWHH“MﬂwEQ
#0H | HA2 0il Heater

i B VHEEERRE;

Note: All the parts marks "* should prepared by customer

"o




	Specification for Scroll Compressor

